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1) 

Part A General intelligence & Reasoning 

rs:arrear mfr vi ff 

B) HL DEL 

DEMI 

Question Figure !Fr N6fa 

A piccs of paper is folded Aka, ttt 
h 

• fi i:uta., .... _ 
th e  question figures. From the , own belt; 
. , 4 .  h  .  Ivn ans indicate how it will appear when ope""re, 
A r refertt # far 3gr 

+rs at , 
are eer at s ea fee seet 

fan& er? 'Rm 

A)DEHL 

C)EFIMJ 

If 'LONDON' is coded as MPOEPO. What code is needed for DELI! ? 

·e 1gov aovro a mar arm ta 

DELHT fa al« farer snarr 

5) 

©0° EBCD O  000  000  

$  9  8  8  
A) p) C) DJ 

6) 

B)FGKL 

D) TUOP 

B) Chess 

rear 

D) Hockey 
ts 

B)17 

p)63 

Question Nos.1 to 3 

ir 1 3 a  

Directions / f Find the odd number! letters/ wort 
from the given alternatives 

fv fast t at f is Mar rrer gfe 

A)HIVW 

~)AcDF 

2) 

A)Cricket 

fire 

C)Foothall 

geaf 

3) 
A)25 .. 

c)13 ' 

4] Some equations are solved on thc basis of certain 
system. Find out the correct answer for the unsolved 
equation on that hasis. 

go e ft ant a rues es f ru $] 3e 

m «ea ft zr ar ere @fa 

safe 12 9+810and3 1 5 9 - 5 1 3  

tbe at 1 3 x & = ?  

7) The total age of a mother and her daughter is 60 years 
The ditfcrenee between their ages is 30 years. Find out 
the age of mother. 

m 3tt $ gA 8 gr 3n so art t as8 M 

tr a 3ia so ak u mi $ 3 me 8fru 

A) Io4 

C)4IL 

8) 410 
� 

D) 401 

A}40 years 

40 a# 

)+s year 
4s i 

B)55 yr» 

s5 el 

D} 50 years 

50 a# 



6f 

Question Nos.8 tog 

airs9a 

tie0otiose / frAsaviors is given with one terr 

mlgsing Gut of the four alternatives, choose the 
waive that will omplote the sonios 

or arr tea A Bet ere a t t n  

ar  fret#safe gfeat arr st gel 
rt 

)i 

0) 

) One r two statements are given followed by two 
Conclusion/Asaptions, laodll Yoe have to 

oder t statement to be tee, even if it«ecosto be 

at var ie fort commonly known fess Yo are to 

decide which of the given conclusions'assumpton can 
definitely be drown from thegiven statement. indicate 

your a.wer 
tie.meat; 

Allers are Singer 
IL. AL panes are Singers 

Conchs.ee 
I Sioma Singer re Dancer. 

II. So Dancer are P'ayer 

r ar d araar f  rt,fl 3 

fadart et fas rt rest farce 

DNeither conclusion l 

or LI tellos 

toed1Atta A 

fart 

Beshore 
[I follow, 

ff II zt 

fest 

afad 

fart 

C)Only %oclesion l 
follows. 

r fest 

fear t 

ran t  fl  eaeve eat et Ar  au 

ave eat fa are a rat ff 

art6 fee r raet # ta m  ffteer  

#at friar fasat  arr arrear t 

sh  sea  st  ff~ee ere 

rre; 

t.  t fat rt 

u. ahas eras 

Rent; 

mew# t 
sf.sad feh t 

A)Only conclusion L 
full.es 

BI6X 

0)DIX 

9] BKS, DIT, TU, HH.2 

A)GU 

pow 
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ff ff%mirror js placed om the line MN, the whie of t 

awer figures is the rut image of the given figure"? 

f tzar MN arr attn4ea 

yaftt # ta.tr wt emf A et 

Question Figure/ 

4B)beer.woe, 
#er.ziheeast 

D)Species: Science 

afart.fr 

N 

Aon fie 3.3a1ff 
g) Gentle 

%a 

p) wicked 

gee 

8)2 

0) n 

5Fl77 
A) J) c) o 

1s) 2 1574:? 

A9 

ga 

ft/ Choose th correet Were diagram which best illustrates 
«e rltiorship song Hockey, Cricket, Gares. 

ae mt d seer gfr ah A,frte.set # u 

elf@ta ziitr rt zeta? 

A Tie 

oer 

€)idiot 
nd 

D)34 0)° 

t2 Find the miring umber froat the given re$pones 

fftrttseire»f 
7 3 16 

00; 
42  $4  140 

$ 

M 

# 

Cestton Nos.13 t0 16 
8rn13al16a 

ting£r Select the related wor lattes 

mber fro the given ale.at6. 

fearefeearfer ere arr ire 

gna 

» «Uy=sesr­ 
A)ISEA B)TESA 

D)TSAE 

f) low may trigles are there in the given figure 

e.flt f fsf 

9s 

0)12 

P-5085/8050548) • 
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a sol! dfr 

which answer figure will eoenplete the pattern in the 
question figure 

at ear rfawe rfa sfas t qr 

« 

Estrrod waling straight towards South. He walled a 
ditee of IS metres ad then took a left turn ad 

walked a di.tee of 3 metes. Then he took a ight 
torn and walked a distaee of l5petri. 7is 

facing which direction? 

zRetr fr # tr ear tg fa a ts ht 

er3 fr it it art so le er fist a eid 

it rs ram rz fa fa #r t 

red gr$ 

.8 NATION 

D IKANSIf 

A}RATIO 

21 Foe the given swer figures, select the one in which 
the question figure is bidden'embedded 

rsserfat he see efat gt 

rt w el Sa y 

20 t of the four word given, choose the word which 
caot be formed wsing the letters of the following 
word 

2n a et##a safe at frrffra 

al tr gtr rd ate ref 

TRANSLATION 

h.hoe of the given responses would be 

~tisl order of the followir 
t.taring 2. Dish • Vegetable 
4.Market S.fooling 

e fest tta.r farer fag et 

arras reheat R 

1re 2araa s. .h  

4.3¢ $. 77 

),2 45,3 B)$,3,2.1,4 

0)3,2,5$1,4 D)4.3,1.5,2 

tr 



B)65, 67, 43, 65 

D) 76, 67, 34, 69 

I P 

8 G N F  L W  
9 N P X Z L  

MATRIX.-IL 
a-IL 

0 1 2 3 4 
0 A R B C E  
1  T  H  S  E  R  
2 R E  H D. S  
3  S D! T c  
4  E B  O R  A  

A)76, 66, 34, 98 

$) s6, 76, 34, 55 

, .a-,.aral lnt.lllg■nca & RtiHoning #rt A 

24) A word is represented by only one set of numbers as 
given in any one of the alternatives. The sets of 
umbers given in the alternatives rt represented by 

two classes of alphabets as in two matrices given 
below. The columns and rows of Matrix I are 
numbered for 0 to 4 and that of Matrix II are 
numbered fro 5 to 9, A letter from these matrices can 
be represented first by its row and next hy its column, 
eg,'A'c be represented by 00,44 etc., and 'X' ca be 
representcd by 78,97 ete. Similarly, you have to 
identify the set for the word PK 

er ta e tu.age zar zfa rant 
Ar f ft rd c fa re fa.it 

hf z a.r tt #z at zr zf 
t. sr fr a fz no z act # t rep Tar 

sf # sear o &4zgt te rep 
II$r5 89.g rent ves arr ast set 3e A 
f ft aaz # es sear cur ztar s ea z 
3er f 9' «st 00,44 nftr zau et a 

a t aery «t7,9 f zaer afar an as 
tgh a ~ meat ae i f2 re Pig # fr 

n st sear t 

MATRIX.L 
a -I 

25) rPde»res+',Q denotes 'x', R denotes-' and s 
denotes'-', then 1012P4R5$6 is equal te. 
feprteat,oreat,gear teat 
3ts • at terr t at 1so124R56 fl azet 
tnr 
A)65 

gs 

B)36 

D)34 



0)2 

Aceriobr of en oogled pie of woeki 
6 days. If thcre were men more, the wok ca he 

fielded it0yls Th6bet ff men orl 
ls 

et frat 6of A «gr at At zte 

sat tomfzearited 
fa q rant age ga. fa ye 

arr 

A)2 

ff Afruit seller bys 100g off speer variety of 
mgo at 4S prkgad70ks of inflecr vlet 
t {40 perkg and ells all the mangoes at 45 perk 
he profit parentage of the fit «elier i 

% fr rat fer of. ates 
f .fret ateant le ofer fer 

2oaf sofa frm.Re ateen t 

a tts fa@ gt.4teed zer t, 

fer ran farer a? 

8)125 

09.4 0).2 

.2) lfthe mio of ere of rrcirel 419l d me 
of their circumference will be 

a err ere9tot 
aft« ore are 

AM ~8. 

2.8 le ts eclel is i.eased b 1 
le ' nee.e  of lei 

fret fer 1eat er e 
far ate ghe t 

42I 

0)0I% 

2) Aisheted at 150. with dicont 0f20%. wt 
.dice de.ebea.feet4ed cu.cert 
bring the net price e 408. 

ft rat#aro Ar mt1so 3fa# 
«tt rgtt yfter sR art fares 
a nos arr? 

A)IS% 

go 

Put8 .Numerical Aqhtde 

:ewe ff 

p '4b're pitvinteger such he 19, 
tee he le of is 

at ttraet fa.w1 

ear 

' 

- 

0e 
t 

P$086800sq to 



wet4.u.lg.4At 

Aoopreo ow+rv+ace ti", 
of%ad wed a profit of 1.6% what shoo 
been the percentage of profit eared if ne disco 
offered 

fd garre a atg  At set 

194 at er M¢ e 19.6 a7 a0f 

6N fr a ht. se l tart sd  
at  s  fee  fea  gr  tar?  
A)y2.0% 

4.0% 

8)24.6% 

0)24% 

£too mt 

oo tee 

D) 4 m 
4 e 

8)8 nem° 

8)10023 

D) 1002 

pg.non 
2 

40) The let member of we dirits cad divisible by$.8 
i 

air it# geg tier atss he fas 

46mullion of'deity increases at the rde of 5% pet 

C e.  Ifh preen population of the city is 3,70,440. 
ls population }year a.g0 wa$ 

ft re#taters aft 4rafa At 

f d Ad aear3,70,440 t et agt 

art qdeed a seer et 

8)3,60,000 

0)10,00 

, ....-f..., am, q1km' lu vclume I< 
4 eh a 
» o r«s q&e a ser  9en Rel sent 

far st 
raze? 
A)6nem° 

820$ km 

f 

0)200 l 
200 f 

9Io 
20f.¢ 

co 

09 

6) ftri mainti a uverge speed o 42km per 
hour,itarrive et it destir.tie de right tire if 
however, the verge spocdis 40l per ho, it 
arive l5minuter late. Find the length of the journey 

fat4 erst Mae4ft.fat fret 

fret art#a a retrier ear qt a s 

«gent fast; tee am so ft. at 

e at e rie s  feed ad'aatty 

er freh rt# 

} A¢what perent bve he coast price must a person 
ak de ice of%isle that he e enjoy% 
profit her allowing 20% icue? 
+t afar fegh sea A fa ir  red 

fa fa  ft 4nee  if it  fie  t 

20% «th 2 i teen. sh 20% art al tr 

8)30% 

0)40% 

P5085/80505(84 • 
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97.=7 

D ) 7 : 1 7  

A)27: 34 

c ) 1 7 : 2 4  

e•= ··!!�u_ms:_·:_ri:_GG:_l!:.P._'!:..P_t�ttu�d:;.::- ..... •�;:_;-;�':a;-;;�;-:_:_-:_:_:_:_�':_;�-�6�6!:..!.:0.:0�88�-------..:�!!J.�•�:�@ill�I fil�.J:,._� .. �f1'�e��[_-­ Part!: 

Question Nos.41 to 42 43) A litre of water weighs a kilogram, a litre of anctbcr 
gr in di #42as liquid wcighs 1.340 kilograms. A mixture of the two 

weighs 1.270 kilograms per litre. Tbe ratio of their 
Directions / The following bar diagram graph volumes in a litre of the mixture is: 
depicts the sales of items (in lakhs)} in a departmental\ I  ta feet arr ar aaa a fear 3t a feet 
store from April to August in the current yosr. Study 
me graph and answor the following questions sin9 (3H·zed al aa 1.340 fsn # f~, a z 

the data provided here. atfsfu s at sa# fur ar a'270 

£aff@ aw seer ft raced f.au. sfefRe et smart, cafe f»r# a# 
am at # rd t raaa a) 8 fa8(sr ~ 3meat aT 3Hara aac? 
(2t n a» asr.rt4a st air ft zr anri 7 

gata s pc faff@a l ar d] 

B) 300 

D) 150 

A)225 

A man sells an article at a loss of 10%. If he ha sold it 

far ?75 more he would havc gained 20%. The cast 
price of the article is (in Rs.): 

t& cafa st% a 10% sf w ia t f& ea 

3# {75 rftar9war tar at R 20% sr lay 

en ar a (ssr as? 

45) 

44) A merchant buys 20 kgs of a variey of rice at I4 per 
kg and another 40 kgs of ricc at 10 per kg. He mixcs 

them and sells '/3 of the mixture at 12.50 per kg. At 
what rate should he sell the remaining mixture so as tu 

carn a profit of 25% on the whole outlay? 
as& zag fd fas ~ 20 f»,I. mrar 14 fr 

fas.am. fr aw at at as 3rd f ~ 40 f, II. 

ara 3I0 fa f.. #tar ztaa 3tt a  
fer a & 3ea '/3 a a ?12.50 sfR f.a. # 

qt ~art] ems fwur ae fr z wfR 

Rf qfe  25% 1 rr sr? 

A)I2- BR15­ 

D)13:­ 
B)3 

B) 780 

-2) 720 

A) 300 

c)2.5 

The avcrage monthly sale (in lakhs) is: 
3ta far fa# (re hy t: 

A) 600 

c)650 

MAY JUNE JULY AUGUSI 

nt amt arr 

41) The sales in July is how many times to sales in May? 

3an¢ me # g& f# 5 ms#si fa4 fa za 

3rfa { 

42) 

P-5085/80505(8) 



A) 98,000 

0) 6.00o 

8)1,00,DO6 

9)1,20,pro 

A)0, 10,5 

0)36, 18,9 

pi2 

0}16,8,4 

) Apron spend42of his annal inoome on house 
rent, I% on eduction of children d 4% on other 
terms If he saves I4,40l aunty, then the per0'% 
load iome is 

4efeet at er29%1a0 
ar qr1sr reet fr ere t4$% 4a 

trtrdr cart,fa al8tu,o 

reascar&aederan 

Of the three numbers, the firs is twice the second~ 
the second is twee the third. The verge or 

reciprocal of the number ie/1re aucotes e 
a iet A erg ti at rear# en 
st egt r et er # gh treat 4e 
goth/4 ts&adage 

47) The sun of he present ages of father and sot le 90 
Years.0er eauier mi of deire wle$y 
The present age of the the g 

ft fen ate g#tr ha erg torso rit 1o 

efqda.e ztsir Mara er a fa a 
ha rga 

4.) Acedo piece of woke i 5dye4gin4 
How long will they tale to do tie gee woe e 
working together 
Afars5f2rt eaart yt gt% 

at4fa#art eta ft ye asnet 
e ft ere et 

49) '4A-late-latc,en :BC%e­ 
t '/0A-hors -/arc.a . : c  

ae  

A . 6  5S  

4 5 : 6  

•  

0)$:4.6 

-· - 
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at Engtlst 
A 4  088 rt:rreq aft 

ant· 
... - ...... �- 54) What accounts for the greater prevalence of 

Pant G General English expedition mountaineering in the Himalayas'' 
- A) glacier airplanes E)the severe weather 

Question Nos.51 to 56 
condition 

Directions : Raad the following passage carfully C)the specific nature of D)multiple caries 
And choose the most appropriate answer to each mountains between camps 
estion out ot tha lour alternatives. 

fuse 55) Which of the following is best undertaken as Expedition mountaineering could be viewed as slow am expedition mountaineering? e where climbers may use porters, pack animals, 
"" ~ues. cooks, multipie carries hetween camps. A) medium-sized _B)short time sale glier an » usage of fixed lines, etc. Expedition mountaineers still mountains mountaineering 

le the ski!! sets of the piping mounlinger. except they 
empioy , Anded "  C)peaks in Biurope and D) lune und isolated have to deal with even higher altitudes, expar time North America peaks seale, longer routes, foreign logistics, mure scvere ethe, 
and additional skills unique to expeditionary climbing. The 
levlenee of expedition-style limbing in the Himalaya IS Question Nos.56 to 58 
laryelya. ·nature of the mountains in the Directions : Four alternatives are given for the 
region. Because Himalayan base camps can take days or Idiom/Phraso undartinred in the sentence. Choose the 
� ■nd Himalayan mounlams c,m lake weeks ~ternaliv which best expresses the meaning of the 

months to climb, a large number of kdiom/Phrase 
land amount of supplies are necessary. Ibis is 

. vh; eijedition-style climbing is frequently used on large 
and isolated peeks in the [Himalaya. I,Etope and North 
America there is less of a need fr expedition-stylc 56) John was 3god as his word and came on time for the 
climbing on rost mediur-sized mountains. Thesc ,,- meeting. 
mountains can often be casily accessed by car or air, arc at A) convincing p) punctual n lower altitude and can be climbed in a shorter timc scale 

51 Which of the following is true? C)able to fulfill his D) a promising young 

' 
promise faun 

A) Expeditionary g Most medium-sized 
climbing is popular ia peaks in Europe are 57) He came to work looking very pfL colour. the Americans. accessed by car or air. 

C) Himalayan base cu.p D) European and Nonth A)tired B) unhappy 
rel can be completed American mountains 

- 
' 

in a day or two. require cxpanded time C) worried D) ill 
scale for climbing. 

52) what necessitates the hug amount of supplies 58) wns asked to take n hike for n comment I made. 

and large number of personnel in Himalayan _be uiet B) think expeditions? 
A) foreign logistics B) low altitudes C)leave D)t»kc a break 

CJ expanded tine seale D}severe wrather 
condition Question Nos.59 to 68 

Directions : Sentences given with blank to be filled in 

53) Which of the following sryle of mountaineering is 
with appropriate word(s). Four alternatives are 
Suggested or each question. Choose the most 

considered to be slow and heavy? appropriate alternative out of the four and indicate It 
A] sports mountaineering _) expedition by blackening the corrsponding cirle in the Answer 

mountaineering Sheet. 

C}alpine mountaineering D) Himalayan 
mountaineering 

Pr.0 



tCGeral plish A 7 

69) As soon as this wglee 0rash0Dive,] 

- ·eoywa/" 
A] sidetrack Bpabando 

, . 

C]overthrow Dlose don 

60) She great pleasure and satisfaction from 
cooking 

p derive» 

Poetry is4torm of expression i which th 
particularity of the word and the image to cool 
feeling assures great import¢. 
A)suppressed g} parroted 

e) A0thing is_whlehr i ot against the nature 
af thing 
Aeticble g) prate 

C)probable 

62) He was o filled with contempt fir the prisons 
hat he gave hims_look- 

humiliated B)derisive 

6) Tee re spools in.sihr sides.of e" 
A%tool ca either side )No igovernent 
ceof oe ether side D school on either side 

No improvement 

D) porting in 
AJ fin r 

Coding is nothing but putting up information in !SI 

format 

A)No improvement 

hd became fr 

7n Wietetedyor instructions 

A)acted over yor 
€No improvement 

D) hurtful 

gf%cent a? 

0)pityins 

64) Rote ad Juliet's attar is probably the 
mos loved at all tires 

goover 

pJelnestine 

66) Some interesting matter in our discussion 
yesterday 
sJomew B)gorp 

er.o 

P.5085/8050548 



rs) She hopes to become an engineer after she will 
complete her education 

A engineer after she B will complete her 
cdorion 

C}She hopes to become D) No error 
Bors now 

D)No error 

A) Bengal tiger 

C)almost extincted 

All the girls students are vie4tea 4 
meeting positively, ttend 

A)attend the meed 9Nee 
positively. 

All the girls students Dre %he t 

82) Te thief had hardly put the esh in hi 6eLe 

then the owner woke u. 

Noerro B)Te thief had ha 

C]then the owner woke DJ the ceh is bi 
p. pocket 

83) Bengal tigers are now almost extincted 

B)for while' 
D)No error 

4please elrtin silence 

I 

I 

76) Kindly please direct the tourists ta the museum. 

A)Kindly please 

Cjto the museum 

Question Nos.84 tog6 
Directions : Cut of the four alternatives, 0no0so the 
one which best expresses the moaning9oosite to 
the given word 

79) Our tea played a foorbefl match 

B)deep 

B) pile 

D)collect 

BJ sorrow 

D) empty 

a 
A)store 

Shod 

85) peak 

A)inferior 

C)mount 

66) despair 

A) hope 
- C)repair 

B)! will never forget you. 

)our team 

p)No error C)football u.ch 

A)No entor 
C)If you stand 

78 Al%t he married with a poor girl, 

A]At last 

C)No error 

f ttyo std with me in hour of need, I will never 
forget you 

80) [tis better to sty at home than go to market when 
t is mining 
A)enits rig. B}No eeo 

Chis better to sty at Dy thus go to market hoe • 



art C General lish 

Quast/on Nos.87 t0 89 

Directions : Out of the four alternatives, choose the 
one which bast.eapcegses the meaning ot the given 

word 

95) 

g)lier 

D)heir 

B) inexplicit 

_p)ireplieabite 

premium 

flt euot he explained 

Aitolerable 

cicvocable 

Question Nos.95 to 100 
bl¢tlon Four words ave given, out of which only 
Go weoerdis ooerectly e Find the correctly spelt 

word 

9 Exactly 

A Diec lgweecisely 

c)Similar 0)same 

88) Answer 

s)Response B)Speak 

C)Question Denet 

89] Pain 

A)Contort Vi.ion 

SJ Act 0 Trot 

Question Nos.90 to 94 

Directions, Out of the four altem.aves, choose tho 
which can most appropriately substitute th 

woofs/or sen0en0e 

90] The cite of attraction 

Acyoore B) four 

C[custodian D) poi 

91 Th morder af one's father 

_A)uric ide B]homicide 

Cftieidle D)regicide 

92) Gerturn in water 

A)drown 8] swim 

Creek _Doom»ie 

97 

A)ygene 

g)Miene 

98) 

Jsovcermet 

CJguvernmend 

99 

A)sleer 

C}sire 

D)goverremt 

Dome 



r-. ado )eyllab 

otter DoyMt 
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407 Katherine Apt who won the crown of 2016 Mi 
fad he longs to which countoy 
get 3f 206 ensr she a ef oft pa 

wet 
B) Phillipies 

100) Aiu pogo that interprets sand di.sply w 

Page 
teat gs gt st frarr vi get 

«tar 

DJ painter 

fr 

C)actress 
fat 

• 

Pant.D Genett Awareness 

102 The highest plate of India is the 

merrier srrrt.err# 

gMta 

- D) Deccan 

±ft 

103 Which of the following elicits the Public opinion on 

Bit 
ft frts q faefafa feeds fr ara 

ran At? 

4pd) The Ste with largest gap in male and female literse 

is 
gainftar roar aefteas 3ier as as 

at r 

A)Refer dun 

er8 

CPieble.it 

aaaerie 

B)Recall 
we00a 

D)initiative 
er 

Ar»oho 
4ea 

B)Keel 

ta 

D)Madhya Pradesh 

q 

104) Biogs is formed through 

at fsg «ms ad 

B Reduction 

or 

[) Oxidation 
nm 

109 The lw of demand states that when; 
ni r fcagar f sr 

Aincome ad price rises 

demand rise 

3 A eh t 

at it eAt 

105] Hepatitis is disee of the 

efee fed tr 

)Heart 

e 

Spice falls demo.ad 
rises 

ea ftat Ar 

t 

Dincome rises derad 

he 

ma «eh t at air st 

eA t 



BRoel garea, 
Chandigt 
ir m±a, th 

D) Hanging garden, 
Mumbai 
tf mba, rid 

B) Jalalu±din Ki[; 
3raga fess 

D) Aladdin Ki[; 
Merta feet 

B) Mussolini 
ntfRh 

D)Napoleon Bonaparte 
fa tare± 

B) Whet 
it 

D)Rice ara 

A) Shalimar Bagi, 
Srinagar 

Mar urn, .aa 

C} Vrindavan Garden, 
Mysore 

raa mia. #Au 

A) [ltutmish 
3Mar 

C) Bafhan 
,ea 

C)Meuerich 

efRe 

A) Bismarck 

pd 

A)Poto 

Mm 
C)Sugarcane 

» 

115) Which of the following sultans adopted Pe%, 
customs and manners in court: 
rafRfea it f sea a ea f sh en 
fast at 3rqaram 

117) tn the context of ulcerative sources of enen, eh4 
» viable bi.felt can be obtained to­ 

t # fas gt de set # ereerd sue. g 4, 
#ga fat re fen .sr aa t» 

116) who convened the Congress of Vien', 19152 
f aiae 3ter fear, 11s a 3cha py 

D)/is 
ft 

B) annealing 
radaa 

B)tempering 
+t 

B) Elimination of 
Economic Justice 
fta a st 

fa 

D) Spirit of brotherhood 
kt & r 

A) New Delhi 
as fst 

C)New-York 
7af# 

C)Fatherly treatment 
far«en var 

A) chilling 
gtaa 

C)quenching 
Ma 

113) ladi signed the 'Paris Agreement on 'Climatic Chee' in April 2016 at: 

re # rtr 06# aeranz fad a 

tr qt i eat fee 

112) The Pallava dynasty had their capital at. 

ra us # r zsuad agi aau» 
A)Kancheepuran B) Vengi 

a d.a  4qr tt 

D) Thanjavur 
eangt 

t41) Frtemity means: 
igr rd rut 

A)Unity d Integrity 

car i xeiar 

At)2017_-6610088 

"K:mm%n 
as 

_.aonsauion is me"wry] 119 Nee cs««tnets%%..,~~, 
% sh s"" fllowing gars. with w h i c n r« A  

" " "  ~#areasar+sea] seat.ran.mm,~%,_ 'van# one, 
t: t 

118) Balnd Darwan i located in whict tee 

eie ewers fie et t fee t 
A)Red Font t Agra 

3Mra A a Sr 
_S)"ash rur sos 

ml g ztt 

B)Red Fant at Del» 

£4 4 era frat 
D)Hswu Muhl 

a1 a 



@ Which counuy will hos! the undcr-17 FrFA World Cup 
in 2017 

atta.re 2017 3jg.17 8sr ee± au # #arA 

«tr? 

1 

D)B.V. Kamath 
dt.At «ur 

D) Shimla 
sar 

er were awrrf 

C) Srinagar 
7 

,?_r-tnd r1111ag1.riyt1 
fez sf&<T 

)K.G. Vaidya 
#.. #u 

42 Who amongst the fltowing is the Vice-Charan of 
he newly formed NITT AAYOG? 
muff2a # at aa re #fa ntr 

• tr F? 

[{ 1imal an Forest Research Centre is located at 
U/ mruea raiua #re set fa &? 

B) Bhutan 
ea 

D) cronometer 

shat Re 

B) Bazil 

«.Ar 

D) Spin 
pd 

C)microscope 
m1got eel 

A} Germany 
#t 

clod 
a 

A 

119) Distant objects can be seen with the het of? 
a#es4i f& reze ±d sr est $? 

"z • 

r Port D ,G,.,.,_I Awan,n- 

126) Bown ring test is used [or the detection of • 
g ea terr fer«r car am # fu fur 3net 

t: 

121) When all inputs are doubled and as a result, output also 
doubles then we have: 

an h fl eag et sa t, 3t cf tears 

fiat ga et art t, a e t fr 

A)increasing returns to B)Constant returns to 
scale. scale 
adma faors da ft fas 4 

Mgr Mae& 

A) sulphate 
se 

C) phosphate 
ates 

BJ chlorate 
stt 

D)nitrate 
a1gze 

122] Two gaseous molecules can react only when they have 
$am¢ 
zt th r a g s fafra ad $ 

126) The clement involved with blood clotting is: 
are s ia er ata.rt? 

C)Decrcasing returns to 

sale. 

a fros dm 

3art 

D)None of the options. 
fr fasef # 

art¢ =th 
A) lron 

st 

C) Sodium 
mt 

B) Phosphorus 
Grete 

D) Calcium 
fr 

127) Through which states docs the river Chambal flow? 
a a& fa asut #tat eRt t 

A)energy 

s.it 

C)Free energy 

ma st 

B)entropy 
teth 

D)orientation steric 
"petor 

3f2fa/ feefta 

A)MP, Gujrat, UP 

.,z3a, •• 

C) Gujrt, MP, UP, Bihar 

are, .., 3.s, 

fr 

B) UP, MP, Rajas.han 

3.., H.H., 3ea 

D) Rajasthan, MP, Bihar 

.ea, .s., fer 



D)Buec er 
eta 

Dom.lee Sn. 
region of All4hod 
more%eve fl 
tori4 

rt re 

tab«tr f 

taro nm 

D) Yer 

• 

C)ml Gae we 
pollutioa fee 

rr «tat gen 

ear 

A]Bo $ii 
Lung 
err ti re 

• 
C)Lu 

tog 

Conly fir moey be.it 

ta feet 

f 

134 Dee te fres.dent of led be veto owe 

rr tat ftriertt 

8le (oetituioe ~ 

ile4 o this. 

t#fa# 

oat fret 

133) Te objective of S. Yea file gov.meet 

rt r tr tee en 
A)To ensue welfare of g)To lie vace 1la 

le. & dab.le. group 
fruit or en haft%gt a 
er zffre inf cam 
rt 

Ostdrd of living 
a.et 

l)Consumer Prise hdex 
3u 

9NS Vilt 
INS fit 

0Ns Ai 

INS It 

ANS Viet 

INS fee 

CJ INS Sidharla.k 
NS ttgw 

C)Pach.tctr t.le 
4et 

0) Stories of fuddle's birth d his previour live 
. in 

«#rt er qd soft sfrei fit 

vifeat 

129 the sub-re of'lcli Ny i 

ott eta armrt 

1 The bis for deterring de deres llowee of 
lyes in hdi iee 

a heft ind tr fuherrr 
w 



0Country's export's 

beoope an 
competitive 
t t fl ft 

et st 

] Mahe of money falls 

dh arraoa teat 

t 

ACost of living rises. 
#er ft a 

hr t 

4t ta inflationary tu.ation, which of the ([Lewi 
lament is false for country 

mge# fef#, frffer art. 

sea feds et ta 

8)Prof rise fester 

0 Te Age of Reon, 

Enlightenment &e 

Dis0ovsris 

ads, gattar di a. 

137 wih type of function does the analytical engine 
perform' 
fie engqar a«std(fuet fore«gar 

D'Rate of interest cameot 

be determined 

raear fire 

at fer sat 

CJa of interest can of 

be ero 

ztgattet 

t 

14f) which one f the following statement is True reg=di 
of terest 

stir zit frf t .  

ear  Rt 

Bate of interest 
increases wid 

economic goth 

refit 

far re eht 

A)Logical function. 
f ard 

0Control function 

fro art 

tts we one of the following i d locked cutoy 

fratefea A«tarreersarrt 

14} Which of the following is on example of diet 
degeaey' 

fraff«er reer at«sear 3eater t 

139) Are% hieh supports the ccooey and eport trade ofe 
we ponti called its 

fee ft ent voe et ere yt 

rearer fee tA tr« 

A)eoonomic e 

ft 

Carland 

ft 

$ Village Pane hay at 

4 er 

District Pchryat 

er ere 

g)Gem Sabha 

80 

D) vagar Pnc.hay 
do 

1434 MW0ng hie following nor an olypiss medal 
wier 

ft tat yteft. ear fr±re ate 

A)K. Mall%hi BAhhiav liner 
• meet 3fa fir 

..O 



4lg) Te word socialist and secular were inserted in the 
Preble to the Constitution by: 

tfu Ar g2ts area& 3ti fer 

fr ear st ? 
150 The largest part of our brain is. 

zmtntteaadagfeerata mrt 

B) National Pk 

ha al 

D)Reserved Forest 

rfre «a 

D} Wet Server 
r de 

9)Sanctuary 
4 a% 

CZoological Park 

rf er 

149] Au are reserved foe de protection of the wt called: es 

au a#et teer tr fr nf@ea eras rare 

t 

8]Concave convex lens 
aa gee«ere 

D)Concave lenses 
ya r 3 

D)Dorsal sure of Leaf 
et l q et 

ACovex lease 

ea tee 

C)Lenses with neatie 
power 

fa met Are 

cVers 
ft 

A The 16 Aedraent 

6 #ta 

_g4re 44 Aedeet 

4 # satua 

gfhe 42'Amendment 

42 ta 

D)fe Amendment 

7dsta C)Cerebellum 
grftee 

f47)A pressure cooker reduces cooking tire because 

dreg taa ss# at  area ataer 

.., 

A)tbe boiling point of the 
water inside is 

elevated 

are a«rarrais 

a rear t 

)itabsorbs more heat 
from its flame 

rt seanard 

9 at ft tar 

art 

Che higher pressure 
tenderises the food 

tsar ash 

are an2en t 

Dthe heat is more evenly 
distributed 

3r ft a 

ffte Rt t 


